PROPOSAL FOR ELECTION REFORM
Introduction

In the present election system with more than 2 parties, a MP may be voted in with less than 50% of the voters in a riding.  This disfranchises the majority of the voters in many ridings.  It also encourages “strategic” voting rather than voting for the party which policies you really support, so that your vote may not be “wasted”.
In the proportionate system which is best exemplified by Israel, there is almost always a minority government which dare not make tough/controversial decisions, or a coalition government giving tremendous power to the small parties that hold the balance.

The system like Argentina or France, where there is run off elections between the top two candidates will ensure that the elected member will have the support of more than 50% of the voters. Because of the run-off elections, the cost is higher

We like to propose a system which should be possible with the present computer systems. It will  be able to: 

· The elected member will represent more than 50% of the voters in a riding.

· By looking at the voting pattern, the elected members will know what the real view of the voters is in that particular riding

· The choice of every voter in a riding will count in choosing the MP.
· The cost of the election will not increase and can be done in one bout of voting.

Mechanics of the voting

At the ballot instead of voting for one only, the voter will choose 2 candidates – one candidate for first choice and a second candidate as second choice.
The first choice of all the voters will pick up the top 2 candidates among the multitude of candidates. In case of a riding with only 2 candidates, the winner (candidate with more than 50% of the voters) will be obvious.

If there is no candidate with more than 50% of the voters by the first choice, the second choice of the voters will help us choose the winner of the first 2 candidates in most situations.  If the voter’s first choice is one of the top 2 candidates, his/her vote is counted and the second choice is null and void.  If a voter’s first choice is NOT one of the top 2 candidates, his/her first choice is discarded and the second choice becomes the candidate that will receive his/her vote.

If the electorate is educated properly, the first choice will be the candidate whose party’s policies that the voter supports and the voter can use the second choice as he/she wants or be a strategic choice.
Advantages

This method of election will

· Cost the same as the present system, except for a one time cost to develop the computer program and buy the hardware. 

· The elected MP would have been the first or second choice of the majority of voters (i.e. more than 50% of the votes)
· Analysis of the first choice will show the real choice of the voters.  This should indicate what the voters are really thinking or want. .  For example, if there was a sizable vote for the Green Party, the government will know what percentage believes strongly in environmental issues, or if 30% of the voters vote for the Rhinoceros Party, it will send a strong message that voters are disfranchised with the politics as a whole.
· No voter will be disfranchised as their vote (either by first or second choice) will have counted in electing the MP. This in the long run will actually increase the percentage of the population voting in elections.

	Voters
	First Choice
	Second Choice
	Counting the first choice only:

A = 7

B = 6

C = 8
D = 5

A & C are the top 2 candidates. 

The second choice of the voters with A & C as first choice is now irrelevant and be discarded  

The second choice of the voters with B & D first choice will be regarded as their candidate of choice.

Grey boxes indicate the choice of the voter that is NOT used.
	Final choice

	1
	A
	B
	
	A

	2
	A
	B
	
	A

	3
	C
	B
	
	C

	4
	C
	A
	
	C

	5
	A
	C
	
	A

	6
	B
	C
	
	C

	7
	C
	B
	
	C

	8
	D
	C
	
	C

	9
	A
	D
	
	A

	10
	C
	A
	
	C

	11
	B
	A
	
	A

	12
	B
	A
	
	A

	13
	A
	C
	
	A

	14
	A
	B
	
	A

	15
	B
	A
	
	A

	16
	B
	A
	
	A

	17
	C
	A
	
	C

	18
	D
	A
	
	A

	19
	D
	A
	
	A

	20
	D
	A
	
	A

	21
	D
	C
	
	C

	22
	A
	B
	
	A

	23
	C
	B
	
	C

	24
	C
	B
	
	C

	25
	C
	B
	
	C

	In this election, A received 14  votes (first or second choice), and C received 11 votes.  A will be elected with 56% of the votes.
With the present system, C will be the winning candidate but with only 32% of the vote and disfranchise the remaining 68%.


